WY oo i i JS5 14l y 51wl )8 g0 3T

Eamn! 39y g5l 195 oS e 5 Pl oy G0 35 00 S = 110 Jlgas
easalls) ( S35 (2 assgseilil o Jb,sT

fiegd phas 31 juad (o)1 sl 02351 = 1P Jlgus
blass (o L5902 (= PR Sl FATTe 5 [ sdiS g o (Ll

famo oo lid 1) 68l o Jobw gloaols )00 gom 19 (BLS o (SR g SO jleaiy 35 alas - WY Jlgw
Ugagiedls (5 o (2 perdgemidls (0 LSl (et

2,10 0925 5 5l Sldglw ;0 Al Splas — A Jlsw
Jgigem € oSl (g Ly 5 (o psil 5 (all

Cowwl yidan a5 HLES  alo (a5 ()5 olSiws 31 s plas ;0 - A Jlgw
S5elS S 2 (o §S Sy (2 i Ol (o oSt atl G

390 (o0 Joolo 1T oo anadii 55 (o Johoo plaS =AY+ Jlgus
(bl az s (gl g 4l les Sase (I
el i o el g Al Same (s
(228 42055 (s 9 4Bl e S (2
b 4z eegd 5 GLL S (0

=90 ol
Part one: vocabulary

Directions: Complete the following sentences by using the most suitable word or phrases below
each one.

121. In a psychiatric ward, it is common to see an anxious patient squeezing her/his hands in

........... as a sign of restlessness.

a. hilarity b. tranquility c. agitation d. euphoria
122 . Most addictive drugs cause Serious ............... symptoms including physical pains, loss of
concentration, and short-temperedness when the user starts giving them up.

a. residual b. survival ¢. superficial d. withdrawal
123 . It is a natural reaction of eye pupils to ........... as darkness increases; they open up to let in
more light.

a. dilate b. tighten c. strengthen d. constrict
124 . The patient’s breathing difficulty was due to the .......... she felt in her chest as a result of
overeating.

a. constriction b. distortion c. deformation d. contradiction
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